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Q. With respect to the diesel units at St. Anthony, Roddickton and Hawkes Bay, 1 

what was the average annual revenue from energy generated by each of 2 

those units in each of the years since they were interconnected? 3 

 4 

 5 

A. The annual revenue for St. Anthony, Roddickton, and Hawkes Bay, was 6 

determined by dividing the total Island Interconnected revenue by the total 7 

Island Interconnected gross production.  This number is then multiplied by 8 

the gross production for each of the diesel plants shown below.9 

 

Year St. Anthony Roddickton Hawkes Bay 
1996 $45,328 $7,799 $25,860 

1997 $11,351 $2,911   $5,715 

1998 $18,377 $5,692   $5,389 

1999 $10,109    $927    $7,959 

2000   $6,320        $0    $2,320 

2001   $9,329 $1,980    $3,602 

2002 $11,803    $940    $4,018 

 


